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3 a. Shipments (in tons) tube an alum ucer are shown in Table Q3(a)

Q3(a)

, and comment or$p,{relationshi
rears moving average, Plot it as

i) Graph SfWata, and comment orm,qlemtlonsnlp
iil CpXBp**rWte a 3-years moving ave&€, plot it as a dotted line, and use it to forecast

irts in year 12. d, dry

a weigtrt of 3 for+hu*lnost recent data,ffQr the next, and 1 for the oldest,

t shipirent in ye@ -W' 
(10 Marks)

,ps in forecastingpfficess. r -iffi,#- *5* (10 Marks)b. Explain the steps in forecastingpfficess. * .iffitV rL'. (10 Marks)

4"\ :r -,-: ---^"^-d@-.1&f^:n-, d^*\ /n( r\rrqrrrc\
rish between oesi&,apacity and systefficity- ffi (06 Marks)

b. e rn.tui-pio..rri"J f,rffirlwishes to instali*eg)Ugh automatic mo*|ders to produce 2,50,000

n.,.,d castinn r., uJurr. tte moldine ope#io-ffiikes 1.5 minu'ses fler casting, but its output isgood casiing p.t yJutp. The molding opep6"ti@at es t,l minffilper casting, but its output is

iypically uu|ut 3*gercent defectivi. ir6firc*ury molders"$ill'be required if each one is

uliuirruir ro, p$rysours (of capacitffievear?. .tffi.' (06 Marks)

c. Explain the g@fflized procedurffiing a location $ecision. (08 Marks)
cr---.&r-------'r - 4"

+'t" @ M,flAni_B,"--qS
5 a. What#dyhr mean by aggrffiffiu*i"gt List affiflplain various pure strategies." --#ffiW # (10 Marks)

h Wfrai M you mean bvrMthffir Production &betule? What are the steps involved in master

" *'hgilid t;".;;'? Eiphe, ffi 
(loMarks)

6 Slw**Wttut are the t.usffiffit holding inventp4d Explain' (08 Marks)

frHWnut are the urtffitiors undeilyirrqtffe basic EOQ model? Mention them. (04 Marks)

c. A company Sgk$; 16,000 unp@w mate!1l costing Rs 2 per unit. The cost of placing

* oraer t#qry and the ca*)erdd;sts are l0% per year per unit of the average inventory.

Determine&f #
i) the economic orffiuantitY
ii) cycle time .#*Tv
iii) total variable cBi$tbf managing the inventory'

7a.
b.

8a.
b.

Explain MRP sysQmslnputs and outputs'

Wf,ut are the 
dffi*t 

benefits from MRP? Explain

Exolain the srrpfllv chain activities in brief. .
Discuss gre flario* reasons for the make - or - buy decisions.

dwffiffie
,o-\," ****,1.

(08 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)
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